

On approximation theorems for Bernstein-Chlodovsky polynomials

Aytekin E. Abdullayeva · Dilek Söylemez

Received: 09.09.2016 / Revised: 15.01.2017/ Accepted: 28.02.2017

Abstract. In this paper considered analog of Bernstein operator given by some sequence converges to infinity. For the generalized Bernstein polynomial Bernstein type approximation theorems is proved for derivative of given function.

Keywords. generalized Bernstein operator, approximation theorem, analog of Bernstein type theorem, derivative of function

Mathematics Subject Classification (2010): 41A17, 41A35.

1 Introduction

In the paper we prove approximation theorems for Bernstein-Chlodovsky polynomial.

The polynomial constructed by Bernstein in 1912 for a continuous function has the form

$$\overline{B}_n(f; x) = \sum_{k=0}^n f\left(\frac{k}{n}\right) C_n^k(x)^k (1-x)^{n-k}, \quad 0 \leq x \leq 1, k = 0, 1, \dots, n.$$

In 1932, Bernstein's follower Chlodovsky had constructed the increasing sequences of polynomials

$$B_n(f; x) = \sum_{k=0}^n f\left(\frac{kb_n}{n}\right) C_n^k\left(\frac{x}{b_n}\right)^k \left(1 - \frac{x}{b_n}\right)^{n-k}, \quad 0 \leq x \leq b_n, \quad (1.1)$$

that was named as Bernstein-Chlodovsky polynomials some later.

Here $\lim_{n \rightarrow \infty} b_n = \infty$, $\lim_{n \rightarrow \infty} \frac{b_n}{n} = 0$.

Note that, the condition imposed on b_n in the definition of classic Bernstein-Khlodovsky operators doesn't provide continuous convergence of $B_n(f; x)$ polynomials to the function $f(x)$. We henceforth expect b_n is monotone non-negative increasing sequence satisfy the condition $\lim_{n \rightarrow \infty} b_n = \infty$.

A.E. Abdullayeva
Institute of Mathematics and Mechanics of NAS of Azerbaijan, Baku, Azerbaijan
E-mail: aytekinabdullayeva@yahoo.com

D. Söylemez
Ankara University, Elmadag Vocational School,
Department of Computer Programming, Ankara, Turkey
E-mail: dsöylemez@ankara.edu.tr

2 Preliminaries and auxiliary results

For the function $f(t) = t^2$ we have,

$$B_n(f; x) - x^2 = \frac{x(b_n - x)}{n}.$$

Therefore,

$$\sup_{x \in [0, b_n]} |B_n(t^2; x) - x^2| = \frac{b_n^2}{4n}.$$

Then for convergence to zero as $n \rightarrow \infty$ of the right hand part of this equality does not suffice the fulfillment of condition $\frac{b_n}{n} \rightarrow \infty$. We impose the stronger condition on b_n

$$\lim_{n \rightarrow \infty} M_n(f) \frac{b_n^2}{n} = 0, \quad (2.1)$$

where $M_n(f) = \sup_{x \in [0, b_n]} |f(x)|$.

Note that in the papers [1], [2], [3], related directly to the Bernstein-Chlodovsky polynomials and their generalizations and the paper [5], generalizing the results of the paper [6] on infinitely increasing interval from which we can also conclude a number of theorems on these polynomials. Some main proportions of the polynomials (1.1) were stated in the monograph [4].

Lemma 2.1 For Bernstein-Chlodovski polynom (1.1) the following properties

$$B_n(1; x) = 1,$$

$$B_n(t; x) = x,$$

$$B_n(t^2; x) = x^2 + \frac{x(b_n - x)}{n}$$

is hold.

Theorem 2.1 Let the function f' be uniformly continuous on the semiaxis and $B_n(f; x)$ be Bernstein-Chlodovsky polynomials of order n for the function f and $\lim_{n \rightarrow \infty} \frac{b_n}{\sqrt{n}} = 0$. Then for any $x \in [0, b_n]$

$$|B_n(f; x) - f(x)| \leq \frac{3}{2} \omega \left(f; \frac{b_n}{\sqrt{n}} \right).$$

Theorem 2.2 Let $f \in C^2[0, b_n]$ and $B_n(f; x)$ be the Bernstein-Chlodovsky polynomials for f . Then for every $x \in [0, b_n]$ the asymptotical equality

$$B_n(f; x) = f(x) + \frac{f''(x)}{2n} x(b_n - x) + \frac{\rho_n}{n}, \quad \rho_n \rightarrow 0, \quad n \rightarrow \infty$$

is exact.

Remark 2.1 Note that Theorem 2.1 and Theorem 2.2 was proved in [1].

Theorem 2.3 Let f is a function defined on $[0, \infty)$, uniformly continuous and differentiable. Let the sequence $\{b_n\}$ satisfy condition (2.1).

Then for any $x \in [0, A]$, $A \geq 0$

$$\lim_{n \rightarrow \infty} B'_n(f; x) = f'(x),$$

where $B'_n(f; x) = \frac{d}{dx} B_n(f; x)$.

Proof. Let $0 < x < b_n$. Differentiating $B_n(f; x)$ we find

$$\begin{aligned} B'_n(f; x) &= \sum_{k=0}^n f\left(\frac{kb_n}{n}\right) \times \\ & C_n^k \left\{ \frac{k}{b_n} \left(\frac{x}{b_n}\right)^{k-1} \left(1 - \frac{x}{b_n}\right)^{n-k} - \frac{(n-k)}{b_n} \left(\frac{x}{b_n}\right)^k \left(1 - \frac{x}{b_n}\right)^{n-k-1} \right\} \\ &= \sum_{k=0}^n f\left(\frac{kb_n}{n}\right) C_n^k \left(\frac{x}{b_n}\right)^{k-1} \left(1 - \frac{x}{b_n}\right)^{n-k-1} \left\{ \frac{k}{b_n} \left(1 - \frac{x}{b_n}\right) - \frac{(n-k)}{b_n} \left(\frac{x}{b_n}\right) \right\} \\ &= \sum_{k=0}^n f\left(\frac{kb_n}{n}\right) C_n^k \left(\frac{x}{b_n}\right)^{k-1} \left(1 - \frac{x}{b_n}\right)^{n-k-1} \left\{ \frac{k}{b_n} - \frac{kx}{b_n^2} - \frac{nx}{b_n^2} + \frac{kx}{b_n^2} \right\} \\ &= \frac{1}{b_n^2} \sum_{k=0}^n f\left(\frac{kb_n}{n}\right) (kb_n - nx) C_n^k \left(\frac{x}{b_n}\right)^{k-1} \left(1 - \frac{x}{b_n}\right)^{n-k-1}. \end{aligned}$$

Since

$$\begin{aligned} B'_n(f; x) &= \frac{1}{x(b_n - x)} \sum_{k=0}^n f\left(\frac{kb_n}{n}\right) C_n^k \left(\frac{x}{b_n}\right)^k \left(1 - \frac{x}{b_n}\right)^{n-k} (kb_n - nx) \\ &= \frac{n}{x(b_n - x)} \sum_{k=0}^n f\left(\frac{kb_n}{n}\right) C_n^k \left(\frac{x}{b_n}\right)^k \left(1 - \frac{x}{b_n}\right)^{n-k} \left(\frac{kb_n}{n} - x\right). \end{aligned}$$

From Lemma 2.1, we have

$$\sum_{k=0}^n \left(\frac{kb_n}{n} - x\right)^2 C_n^k \left(\frac{x}{b_n}\right)^k \left(1 - \frac{x}{b_n}\right)^{n-k} = \frac{x(b_n - x)}{n}.$$

We denote

$$\lambda\left(\frac{kb_n}{n}\right) = \begin{cases} \frac{f\left(\frac{kb_n}{n}\right) - f(x)}{\frac{kb_n}{n} - x} - f'(x), & \text{for } x \neq \frac{kb_n}{n}, k = 0, 1, \dots, n, \\ 0, & \text{for } x = \frac{kb_n}{n}, k = 1, \dots, n-1. \end{cases}$$

Hence we get

$$f\left(\frac{kb_n}{n}\right) = f(x) + \left(f'(x) + \lambda\left(\frac{kb_n}{n}\right)\right) \left(\frac{kb_n}{n} - x\right), \quad k = 0, 1, \dots, n.$$

By virtue of Lemma 2.1, we have

$$B'_n(f; x) = f'(x) +$$

$$\frac{n}{x(b_n - x)} \sum_{k=0}^n \lambda \left(\frac{kb_n}{n} \right) \left(\frac{kb_n}{n} - x \right)^2 C_n^k \left(\frac{x}{b_n} \right)^k \left(1 - \frac{x}{b_n} \right)^{n-k}. \quad (2.2)$$

We represent (2.2) as

$$\begin{aligned} B'_n(f; x) &= f'(x) + \\ &\frac{n}{x(b_n - x)} \sum_{\left| \frac{kb_n}{n} - x \right| < \delta} \lambda \left(\frac{kb_n}{n} \right) \left(\frac{kb_n}{n} - x \right)^2 C_n^k \left(\frac{x}{b_n} \right)^k \left(1 - \frac{x}{b_n} \right)^{n-k} \\ &+ \frac{n}{x(b_n - x)} \sum_{\left| \frac{kb_n}{n} - x \right| \geq \delta} \lambda \left(\frac{kb_n}{n} \right) \left(\frac{kb_n}{n} - x \right)^2 C_n^k \left(\frac{x}{b_n} \right)^k \left(1 - \frac{x}{b_n} \right)^{n-k}. \end{aligned} \quad (2.3)$$

(2.3) implies that

$$\begin{aligned} B'_n(f; x) - f'(x) &= \\ &\frac{n}{x(b_n - x)} \sum_{\left| \frac{kb_n}{n} - x \right| < \delta} \lambda \left(\frac{kb_n}{n} \right) \left(\frac{kb_n}{n} - x \right)^2 C_n^k \left(\frac{x}{b_n} \right)^k \left(1 - \frac{x}{b_n} \right)^{n-k} \\ &+ \frac{n}{x(b_n - x)} \sum_{\left| \frac{kb_n}{n} - x \right| \geq \delta} \lambda \left(\frac{kb_n}{n} \right) \left(\frac{kb_n}{n} - x \right)^2 C_n^k \left(\frac{x}{b_n} \right)^k \left(1 - \frac{x}{b_n} \right)^{n-k} \\ &= \frac{n}{x(b_n - x)} (I_1 + I_2). \end{aligned}$$

We estimate I_1 . By virtue of differentiability of function f in point x , for arbitrary $\varepsilon > 0$ we may choose $\delta_\varepsilon > 0$ such that

$$\left| \lambda \left(\frac{kb_n}{n} \right) \right| < \frac{\varepsilon}{2}, \quad \left| \frac{kb_n}{n} - x \right| < \delta_\varepsilon.$$

In particular, we may take $\delta_\varepsilon = \delta$. Therefore, we have

$$\begin{aligned} |I_1| &\leq \sum_{\left| \frac{kb_n}{n} - x \right| < \delta} \left| \lambda \left(\frac{kb_n}{n} \right) \right| \left(\frac{kb_n}{n} - x \right)^2 C_n^k \left(\frac{x}{b_n} \right)^k \left(1 - \frac{x}{b_n} \right)^{n-k} \\ &< \frac{\varepsilon}{2} \sum_{\left| \frac{kb_n}{n} - x \right| < \delta} \left(\frac{kb_n}{n} - x \right)^2 C_n^k \left(\frac{x}{b_n} \right)^k \left(1 - \frac{x}{b_n} \right)^{n-k} \\ &< \frac{\varepsilon}{2} \sum_{k=0}^n \left(\frac{kb_n}{n} - x \right)^2 C_n^k \left(\frac{x}{b_n} \right)^k \left(1 - \frac{x}{b_n} \right)^{n-k} = \frac{x(b_n - x)}{n} \frac{\varepsilon}{2}. \end{aligned}$$

Hence

$$\frac{n}{x(b_n - x)} |I_1| < \frac{\varepsilon}{2}. \quad (2.4)$$

Now we estimate I_2 . Further, we have

$$\left| \lambda \left(\frac{kb_n}{n} \right) \right| \leq \frac{\left| f \left(\frac{kb_n}{n} \right) - f(x) \right|}{\left| \frac{kb_n}{n} - x \right|} + |f'(x)| \leq \frac{2M_n(f)}{\delta} + |f'(x)|.$$

We get

$$\begin{aligned} |I_2| &\leq \sum_{\left|\frac{kb_n}{n}-x\right|\geq\delta} \left| \lambda \left(\frac{kb_n}{n} \right) \right| \left(\frac{kb_n}{n} - x \right)^2 C_n^k \left(\frac{x}{b_n} \right)^k \left(1 - \frac{x}{b_n} \right)^{n-k} \\ &\leq \left(\frac{2M_n(f)}{\delta} + |f'(x)| \right) \sum_{\left|\frac{kb_n}{n}-x\right|\geq\delta} \left(\frac{kb_n}{n} - x \right)^2 C_n^k \left(\frac{x}{b_n} \right)^k \left(1 - \frac{x}{b_n} \right)^{n-k}. \end{aligned} \quad (2.5)$$

Using (2.5), we get

$$\begin{aligned} \delta^2 |I_2| &\leq \left(\frac{2M_n(f)}{\delta} + |f'(x)| \right) \sum_{\left|\frac{kb_n}{n}-x\right|\geq\delta} \delta^2 \left(\frac{kb_n}{n} - x \right)^2 C_n^k \left(\frac{x}{b_n} \right)^k \left(1 - \frac{x}{b_n} \right)^{n-k} \\ &\leq \left(\frac{2M_n(f)}{\delta} + |f'(x)| \right) \sum_{\left|\frac{kb_n}{n}-x\right|\geq\delta} \left(\frac{kb_n}{n} - x \right)^4 C_n^k \left(\frac{x}{b_n} \right)^k \left(1 - \frac{x}{b_n} \right)^{n-k} \\ &\leq \left(\frac{2M_n(f)}{\delta} + |f'(x)| \right) \sum_{k=0}^n \left(\frac{kb_n}{n} - x \right)^4 C_n^k \left(\frac{x}{b_n} \right)^k \left(1 - \frac{x}{b_n} \right)^{n-k}. \end{aligned} \quad (2.6)$$

It is known that [1]

$$\sum_{k=0}^n \left(\frac{kb_n}{n} - x \right)^4 C_n^k \left(\frac{x}{b_n} \right)^k \left(1 - \frac{x}{b_n} \right)^{n-k} = x(b_n - x) b_n^2 \frac{(3n-6) \frac{x}{b_n} \left(1 - \frac{x}{b_n} \right) + 1}{n^3}.$$

Replacing last formulae in (2.6), we have

$$\delta^2 |I_2| \leq \left(\frac{2M_n(f)}{\delta} + |f'(x)| \right) x(b_n - x) b_n^2 \frac{(3n-6) \frac{x}{b_n} \left(1 - \frac{x}{b_n} \right) + 1}{n^3}. \quad (2.7)$$

(2.7) implies that

$$\frac{n}{x(b_n - x)} |I_2| \leq \left(\frac{2M_n(f) + \delta |f'(x)|}{\delta^3} \right) b_n^2 \frac{(3n-6) \frac{x}{b_n} \left(1 - \frac{x}{b_n} \right) + 1}{n^2}.$$

It is obvious that for $x \in [0, b_n]$

$$\frac{(3n-6) \frac{x}{b_n} \left(1 - \frac{x}{b_n} \right) + 1}{n^2} \leq \frac{3n-6+4}{4n^2} = \frac{3n-2}{4n^2} \leq \frac{3}{4n}.$$

Thus

$$\frac{n}{x(b_n - x)} |I_2| \leq \frac{6M_n(f) + 3\delta |f'(x)|}{4\delta^3} \frac{b_n^2}{n}.$$

For this δ , we can choose large $n \geq n_0$, such that

$$\frac{6M_n(f) + 3\delta |f'(x)|}{4\delta^3} \frac{b_n^2}{n} < \frac{\varepsilon}{2}.$$

Thus

$$\frac{n}{x(b_n - x)} |I_2| < \frac{\varepsilon}{2}. \quad (2.8)$$

Finally, combining inequalities (2.4) and (2.8), we have

$$|B'_n(f; x) - f'(x)| \leq \frac{n}{x(b_n - x)} |I_1| + \frac{n}{x(b_n - x)} |I_2| < \frac{\varepsilon}{2} + \frac{\varepsilon}{2} = \varepsilon.$$

It is obvious that from condition (2.1) implies that $\lim_{n \rightarrow \infty} \frac{b_n}{n} = 0$. Therefore for $x = 0$, we have

$$B'_n(f; 0) = \frac{n}{b_n} \left(f\left(\frac{b_n}{n}\right) - f(0) \right) = \frac{f\left(\frac{b_n}{n}\right) - f(0)}{\frac{b_n}{n}} \rightarrow f'(0), \quad n \rightarrow \infty.$$

Analogously, for $x = b_n$, we have

$$B'_n(f; b_n) = \frac{f(b_n) - f\left(\frac{n-1}{n}b_n\right)}{\frac{b_n}{n}} \rightarrow f'(\infty), \quad n \rightarrow \infty.$$

This complete the proof of Theorem 2.3.

Theorem 2.4 *Let f is defined in $[0, \infty)$ and is continuously differentiable function in every finite interval $[0, b] \subset (0, \infty)$. Let the sequence $\{b_n\}$ satisfy condition $\lim_{n \rightarrow \infty} M_n(f') \frac{b_n^2}{n} = 0$.*

Then $B'_n(f; x)$ is uniformly converges to $f'(x)$ on $[0, \infty)$.

Proof. We have

$$B'_n(f; x) = \frac{n}{x(b_n - x)} \sum_{k=0}^n f\left(\frac{kb_n}{n}\right) C_n^k\left(\frac{x}{b_n}\right) \left(1 - \frac{x}{b_n}\right)^{n-k} \left(\frac{kb_n}{n} - x\right).$$

We denote

$$\lambda\left(\frac{kb_n}{n}\right) = \begin{cases} \frac{f\left(\frac{kb_n}{n}\right) - f(x)}{\frac{kb_n}{n} - x} - f'(x), & \text{for } x \neq \frac{kb_n}{n}, k = 0, 1, \dots, n, \\ 0, & \text{for } x = \frac{kb_n}{n}, k = 1, \dots, n-1. \end{cases}$$

Hence by mean value theorem, we have

$$\lambda\left(\frac{kb_n}{n}\right) = \frac{f\left(\frac{kb_n}{n}\right) - f(x)}{\frac{kb_n}{n} - x} - f'(x) = \frac{f'(z_k) \left(\frac{kb_n}{n} - x\right)}{\frac{kb_n}{n} - x} - f'(x) = f'(z_k) - f'(x),$$

where z_k is in the open interval with endpoints $\frac{kb_n}{n}$ and x , when $x \neq \frac{kb_n}{n}$. In the case $x = \frac{kb_n}{n}$, we may choose $f'(z_k)$ arbitrary, and we choose x as z_k . We have

$$B'_n(f; x) = f'(x) + \frac{n}{x(b_n - x)} \sum_{k=0}^n \lambda\left(\frac{kb_n}{n}\right) \left(\frac{kb_n}{n} - x\right)^2 C_n^k\left(\frac{x}{b_n}\right) \left(1 - \frac{x}{b_n}\right)^{n-k}$$

and hence

$$\begin{aligned} & B'_n(f; x) - f'(x) \\ &= \frac{n}{x(b_n - x)} \sum_{k=0}^n \left(\frac{kb_n}{n} - x\right)^2 C_n^k\left(\frac{x}{b_n}\right) \left(1 - \frac{x}{b_n}\right)^{n-k} [f'(z_k) - f'(x)]. \end{aligned} \quad (2.9)$$

We represent (2.9) as

$$B'_n(f; x) - f'(x)$$

$$\begin{aligned}
&= \frac{n}{x(b_n - x)} \sum_{\left|\frac{kb_n}{n} - x\right| < \delta} \left(\frac{kb_n}{n} - x\right)^2 C_n^k \left(\frac{x}{b_n}\right)^k \left(1 - \frac{x}{b_n}\right)^{n-k} [f'(z_k) - f'(x)] \\
&+ \frac{n}{x(b_n - x)} \sum_{\left|\frac{kb_n}{n} - x\right| \geq \delta} \left(\frac{kb_n}{n} - x\right)^2 C_n^k \left(\frac{x}{b_n}\right)^k \left(1 - \frac{x}{b_n}\right)^{n-k} [f'(z_k) - f'(x)] \\
&= \frac{n}{x(b_n - x)} (J_1 + J_2), \tag{2.10}
\end{aligned}$$

where δ same small positive number.

Obviously, $|x - z_k| = \left|\frac{kb_n}{n} - x\right| - \left|\frac{kb_n}{n} - z_k\right| < \delta - \left|\frac{kb_n}{n} - z_k\right| < \delta$. Therefore by virtue of uniform continuity of f' on $[0, b_n]$ for this $\delta > 0$ implies that $|f'(z_k) - f'(x)| < \frac{\varepsilon}{2}$. We estimate J_1 . We get

$$\begin{aligned}
|J_1| &\leq \sum_{\left|\frac{kb_n}{n} - x\right| < \delta} |f'(z_k) - f'(x)| \left(\frac{kb_n}{n} - x\right)^2 C_n^k \left(\frac{x}{b_n}\right)^k \left(1 - \frac{x}{b_n}\right)^{n-k} \\
&< \frac{\varepsilon}{2} \sum_{\left|\frac{kb_n}{n} - x\right| < \delta} \left(\frac{kb_n}{n} - x\right)^2 C_n^k \left(\frac{x}{b_n}\right)^k \left(1 - \frac{x}{b_n}\right)^{n-k} \\
&\leq \frac{\varepsilon}{2} \sum_{k=0}^n \left(\frac{kb_n}{n} - x\right)^2 C_n^k \left(\frac{x}{b_n}\right)^k \left(1 - \frac{x}{b_n}\right)^{n-k} = \frac{x(b_n - x)}{n} \frac{\varepsilon}{2}.
\end{aligned}$$

Hence

$$\frac{n}{x(b_n - x)} |J_1| < \frac{\varepsilon}{2}. \tag{2.11}$$

Now we estimate J_2 . Let $M_n(f') = \max_{x \in [0, b_n]} |f'(x)|$. Further, we have

$$\begin{aligned}
|J_2| &\leq \sum_{\left|\frac{kb_n}{n} - x\right| \geq \delta} |f'(z_k) - f'(x)| \left(\frac{kb_n}{n} - x\right)^2 C_n^k \left(\frac{x}{b_n}\right)^k \left(1 - \frac{x}{b_n}\right)^{n-k} \\
&\leq 2M_n(f') \sum_{\left|\frac{kb_n}{n} - x\right| \geq \delta} \left(\frac{kb_n}{n} - x\right)^2 C_n^k \left(\frac{x}{b_n}\right)^k \left(1 - \frac{x}{b_n}\right)^{n-k}. \tag{2.12}
\end{aligned}$$

Using (2.12), we get

$$\begin{aligned}
\delta^2 |J_2| &\leq 2M_n(f') \sum_{\left|\frac{kb_n}{n} - x\right| \geq \delta} \delta^2 \left(\frac{kb_n}{n} - x\right)^2 C_n^k \left(\frac{x}{b_n}\right)^k \left(1 - \frac{x}{b_n}\right)^{n-k} \\
&\leq 2M_n(f') \sum_{\left|\frac{kb_n}{n} - x\right| \geq \delta} \left(\frac{kb_n}{n} - x\right)^4 C_n^k \left(\frac{x}{b_n}\right)^k \left(1 - \frac{x}{b_n}\right)^{n-k} \\
&\leq 2M_n(f') \sum_{k=0}^n \left(\frac{kb_n}{n} - x\right)^4 C_n^k \left(\frac{x}{b_n}\right)^k \left(1 - \frac{x}{b_n}\right)^{n-k}
\end{aligned}$$

$$= 2M_n(f')x(b_n - x)b_n^2 \frac{(3n - 6) \frac{x}{b_n} \left(1 - \frac{x}{b_n}\right) + 1}{n^3}. \quad (2.13)$$

(2.13) implies

$$\frac{n}{x(b_n - x)} |J_2| \leq 2M_n(f') \frac{(3n - 6) \frac{x}{b_n} \left(1 - \frac{x}{b_n}\right) + 1}{\delta^2 n} \frac{b_n^2}{n} \leq \frac{3M_n(f') b_n^2}{2\delta^2 n}.$$

For this δ , we can choose large $n \geq n_0$, such that

$$\frac{3M_n(f') b_n^2}{2\delta^2 n} < \frac{\varepsilon}{2}.$$

Thus

$$\frac{n}{x(b_n - x)} |J_2| < \frac{\varepsilon}{2}. \quad (2.14)$$

Finally, combining inequalities (2.11) and (2.14), we have

$$|B'_n(f; x) - f'(x)| \leq \frac{n}{x(b_n - x)} |J_1| + \frac{n}{x(b_n - x)} |J_2| < \frac{\varepsilon}{2} + \frac{\varepsilon}{2} = \varepsilon.$$

Thus

$$\max_{x \in [0, b_n]} |B'_n(f; x) - f'(x)| < \varepsilon.$$

Passing to the limit, we have

$$\lim_{n \rightarrow \infty} B'_n(f; x) = f'(x), \text{ for all } x \in [0, \infty).$$

This complete the proof of Theorem 2.4.

References

1. Abdullayeva, A.E.: *On order of approximation function by generalized Bernstein-Chlodovsky polynomials*. Proceedings of Institute of Mathematics and Mechanics of NASA, 157–164 (2004).
2. Abdullayeva, A.E., Mamedova, A.N.: *Approximation theorems for Bernstein-Chlodovsky and generalized Szasz operator*. Advances and Applications in Mathematical Sciences. **12**, 137–149 (2013).
3. Abdullayeva, A.E., Mamedova, A.N.: *On order of approximation function by generalized Szasz operators and Bernstein-Chlodovsky polynomials*. Proc. Inst. Math. Mech., 3–8 (2013).
4. Lorentz, G.G.: *Bernstein polynomials*, Toronto (1953).
5. Gadjeiev, A.D., Ispir, N.: *On a sequence of linear positive operators in weighted spaces*. Proc. IMM. Azerb. AS **XI (XIX)**, 45–55 (1999)
6. Gadzhiev, A.D.: *Theorems of Korovkin type*, Math. Notes **20** (5), 995–998 (1976).